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Q1 =1/)\ Qs =1/320 A cubic equation 2* —x —1=0000 A =1.32472...0 00000

O000000000000O0D0DOO most incomensurate O O O spiral mean O O O O JR-model
00 OO (Johsson and Riklund 90)



[
o O O
a W e
%
=2

==
5

=

=

=S
;

N
ol
5

5 =
w S
= ©

=

(=3
N
w

—el

— e50
€100

— €200

N
o

N
Ou

N

O-
o
5

[N
©

i
o-

-200 -100 0 100 200

=
(=}
©

=
S,
N

=
S,
IS

=
S,
o

=
S,
= )
o ©

=

S,
[N
N

N

O-
i
IS

=

S,
[N
o

— e20

=
S,

[N

®

o i m‘\ I\ e o h‘r{(m‘ '

< A

10°

10°

10°
— e50s
6 — e220

€299
107

-200 -100

o

100 200

O

Figure 4: JR-modelD 000000V =0.8,s=1. (a),(b),(c)000el,e50000000000
guobubbooubonobobooboobobobgbdibdel =2.360772, e50 = 2.1686159,
el00 = 1.9382..., €200 = 0.7257..., e2 = 2.360627, e> = 2.354.., €10 = 2.32919.., €20 = 2.2856..,
€220 = 0.124054.., €290 = —0.8739..., €299 = —0.9343.... U0 00O O0OO0OO0O0OO0OO
OOO0b000b000bO00bODmecomensuratel 00000000000 0O0O0OO0O0OO0O
OO0OHarper OO OOOOOOoOOoOoOoonOO

O000hopping0 0 0000000000000 00D0OOODODODODDO (Johsson and
Riklund 91)

t(qln+1 + \I}nfl) + u(qln+2 + \I}nf2) + anln - E‘Iln (4)
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V, = V]cos(Qn) + W cos(2Qn)].

O00 dual O

V VW
2t cos(Qn) + 2u cos(2Qn)]|gm + 5(qm+1 + Gm-1) + T(qu + gm-2) = Egm,

0000V =2t,W =u/t0 self-dual 00 0O
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